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| Choose the correct alternative in the number series that wil| continue fhe same pattern and

replace the question mark in the given series,

Wmﬁmfmhamafa»ﬂsﬁaﬁisﬁm@am;@mhmaﬂm?

e duar I yns f&y O gt nrRar
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325,259,204, 160,127,108, 7 "
a) 94 b) 96 c) 98 d) 100
2. Choose the missing terms in the alphabet series out of the given alternatives, 5 ea
wwmwﬁmWWWWGﬁl%@fﬁmh‘a‘mmwl ¢ .
a.d.c.f.".h.g.@.l yu 3
i a) e, b ek c) f,j d) j.e
3. Choose the correct alternative from the given one that will complete the series.
&3 o feamyt fe ¥ ga= feadu 9€ A 83 § vénm gaar |
375,957,
a3 b) 42 c) 26 d) 65 o 1
4. Choose the correct alternative having the same relation with the given word. (T, g
Mountain : Hill :: Tree: ?
a) Ground b) Leaf c) Forest \d) Shrub
€2 9% Fuv 578 5987 © YU JYS T8 B o< feasu 9F 7
UFES - WIS ¢ YT : ? 3
2) THE b) u3T ¢) HIE d) =t 5 3
5. Select the related number from the given alternatives. -
48 ;zz 22168 -2 > '
»1: 2 o
w0 b),_m-‘( ¢) 290 d) 292 4
"y o
¢) Large d) Shape L 'i :
¢) T d) _
written as FVTUG. How will REVEAL be written in the same LN
- LR : o A
v {ier § FYTUG, 3' REVEAL @ 9 9 fae fafir =
4 Y bl . \\"_'(
MX ¢) FSISOZ d) ERIRNY ;
v be
N is coded as 2395339, then how can RANSOM b 12y
VY
'm MONSOON 2395339 @ 33 '3 9 q13"
" A

d) 198532
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Pointing to Ketan, Namr,

ata gag
related to Namratg 2 ata saj(,

“He i e - ; . ] 4
'S the son of my father's only son.” How is Ketan's mother

a) Daughter
- = b) A
) Aunt c) Sister d) Sister-in-law

mwfema-rm&% 3 Sis
@hﬁsmaﬁﬁﬁufr?mxw “8T W fuzr & fead 3 u3g o v'ge 31 a3% I

a) i .
Dl c) 9= d) gguret

Amit walked 30 metre W, walked 4

S (o 1
: alke oy ardS EHSt, Fook‘a I'lghl turn and lke 0 metres. Then he took a left
urn and wa de 30 metres. In Wthh dlrechon is he now from the Stal[illg POiill ¥

. a) North-cast
i : b)_ Eaft ¢) South-east d) South
CINE: HIRk_ywewwam?faaﬁﬁﬁ 40 vied Feer I, feg QU T v T w3,
3012 3327 31 87 Bgat firw F g fam fer fg 3 7 9%
a) €39-uaw b) y3g ¢) EYT-YIy d) ye L

YVthh'(jf th? fO‘“OWUng diagram indicates the best relation between Teachers, Men and Authors ?
wm@wmmﬁmm,nmwm@r e
gIager g ?

(a) @ & CGOD M’@ et @

A number is greater than 3 but less than 8. Also, it is greater than 6 but less than 10. the number

1S =
fFanaliFss I s TecdiftgeIssw 0T e A JiIfcanafaasra?
a) 5 b) 6 ©).7 d) 8 ?

In a row of boys, A is thirteenth from the left and D is seventeenth from the right. If in this row A

is eleventh from the right then what is the position of D from the left ?
¢) 10° d) 12*

a) 6" b) 7" e — - : o
Afsnt &t few a9 fee A 8 ufRe 33< 7Es I IS D ﬁ(@@@q;mga,q
for g9 T A HAT wHE famae FEas 3 3 31 HE U 3 D ¥ RETS faowTd !
' ) 10=7 d) 12=
a) 6% \9/7? 9 ) A "\ 2 by P4
nd ; 15
If 30" January 2003 was Thursday, what was the day on 2" March, 2003 ? "F; o
Thursday ¢} Saturday d) Sunday
s - + 9 yrag, 2003 & fagaT fea At ?
F 30 FAA=at 2003 § Stagg A, IT 2HEY, S C i
a) YEB=Y b) <= oy HBI=TE ST
»ot right. If he attempted 48 sums in all, how
i ums wrong as he got rg
A student got twice as many s
. il ggrE B3 a3, % 48 AES d13 I€ 3T
many did he solve correc i LA e
. 3 2 g S B8
feg fefammadt 3 B1d I8
gn & fad FEB BT TS 16? c) 18 d) 24 o
a) 12 It
. divisible by 117 o
ing numbers 18 divist for
Which one of the following ' o | S
fosi vt f9 farga 11570 T saams 48432718 v
2. 3718 b) 4832718 -
a) 4823° 3 e . " it
‘ t '3.&| i & e W
ey e , 2
"‘L/qj;-l 37 S el :) 7 { \7 A X
o ] ya 2%
= (o]
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The greatest possible length which can be used to measare exactly the lengths 7 m, 3 m 85 cm

17. J
and 12m9Scemis: R
a) 1Sem b) 25¢m ¢) 35S cm dy 42 cm PIETS,
7 Wi2d, 3 Hied 85 Aehited m3 12 Wied 05 Aehited et Sarewi & wnre Bt faadt @Zh e, e
=51 Agrfes dwet 29 A A J 7 L el
a) 15 AeMied b) 25 Adled ¢) 35 AEhfieg 5 !, d) 42 HEnfed
, =5 T
(0.137+0.098)2 — (0.137-0.098)* . 2 L
[&  The value of ( ; 0.137 x0.098 1S f""ar ‘J ¢ e e
FaT : bee e ’ .
(0.137 +0.098) - (0.137 -0.098) STHE T /jo .'z.*\. o" ? o2 ‘/,
e 0.137 x0.098 - o 3¥ L1 ot |
_'. <] . a __'_7 L/ ! r.- 4 r"/
&< a) 0,039 b) 0.235 c)-0.25 apas L : .
'D\ - S R // g.os ) 2= 2 5,122 6 (s |
n o s 08x08x08-05x05%05_, S bk i =T ¢ '
= L Jq : 08 x08+08x05+05x05 ) ST 3 NG
<3 e
a) 0.55 b) 0.42 c) 0.30 /d)/O.lSS i "Q:
20.  One-fifth of a number is equal to g of another number. If 35 is added to the first number, it TN
becomes four times of the second number. The second number is :
feq @ e n e € 2 € 597 3, a9 ufas A fe' 35 7 fe'gr Aver § 37 feg g
T 4 gIET ¥ AeT I | gF A fagaT 9 2
a) 25 b) 40 )70 d) 125
21.  The sum of the ages of a man and his son is 45 years. Five years ago, the product of their ages
was 34. The man’s age (in years) is :
fea et »3 87 € U39 It QI T AT 45 WE T | 5 A ufost Qaf St Qe e _
FEEEH 34 At et @ @vg (s fee) faat F 2 o
a) 39 b) 45 c) 50 \9 55 -
22. A student scores 55% marks in 8 papers of 100 marks each. He scores 15% of his total marks in
English. How much does he score in English ?
fea fefenmadt gaa 100 #at =8 8 Tugt fo'F 55% 99 @€ 1 69 »en+t f£9 S a5
WWISW@%?éﬁmﬁm%ﬁ%vﬁam? s
a) 44 45 c) 66 d) 77 L
23. Fresh grapes contain 80% water while dry grapes contain 10% water. If the weight of dry grapes
is 250 kg, what was its total weight (in kg) when it was fresh ? L
I IS ET 80% wret § 7 fy B wgret T 10% Ut T1 FAE B MR e 37 250
foa& a1 3 3t fet wr 9% a9 (fa v fe'e) € fia At we few It A 7
a) 1000 b) 1100 ¢f 1125 d) 1225
24. A man bought apples at the rate of 8 for Z 34 and sold them at the rate of 12 for ¥ 57. How many

apples should be 501d to earn a net profit of % 45?
S et 34 JUe 9 8 Ay wdfteer & w3 Qv 57 gud ' 12 Aw ST J1 45 qUE &9

b) 100 ¢) 135 d 150 LS
L 3
- C; =N '.
o i N U/ S
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208

A3
3

=

Sohan bought g s
S 4 sCooter for :
the scooter for g i v ortain &
aprofit of ¥ | ; SUM of money. e spent (09 ‘
. c ( ) > spent 10% of the cost pairs
RIS fea fanfag ahg 65 0. How Much did he spend on repairs if he |:;1cl(::'1'lr;rr](:;iri f:i"“?l(;"jh't
1100 Ju@ & o3 ‘-%E; R“"Siat‘iﬁ?@ J 18T dhz e gy, HIHT € vager J v rarzg
y . "3'9'Ulm%xzt)‘w.mmwfmmﬁé;*@n#wm@?ﬁﬁi
a) T 400 j ) _ |
b) T 4 Vs
40 ) T 500 d) Z 550 & o

Ifx:y=7:3 ¢ '
G -2 then the valye of XY +y? . :
! A Hyv & 22 0 X
Wx:y=7:3 3, gt 2ty e S o

S e i g R

(=9
~
|

il

3
C) ;
o om
_7'2.;_-. © ; " /

e x
f L

2
If; A=75%OfB,thenA:Bis: ; 95 X Ves

s

- 2 - i
MAST 3 B ¥75%T sy, grap 3.
';)/Oikcli "y b) 9:8 ) 8:9 d) 10: 11 e
one by A in o i .
e irllleoiaeydlzyhalltf gf ti]e work done by B in one day. Work done by B is half of
can A, B and C together Comple-t b :V 2;1;(3 r;:an complete the work in 7 days, in how many days
A 9T feq E : - T T3 G IE T 3 -
=T @MWWBmmmmmwwmemf&a
1"??} ﬁ?aﬂ?:‘m.c oA fed fos fe9 a3 & 578 »for 31 Ja@ C feas™ o 5 7 fos
HIETJ, 37 A, B 3 C fea'd aw § f&s fowt fe's gaear ?
- b) 14 c) 21 d) 28
A can complete a piece of work in 18 days, B in 20 days and C in 30 days. B and C together start
the \yo_rk and are forced to leave after 2 days. The time taken by A alone to complete the
remaining work(in days) is :
fea a & A 18 feat fe'g, B 20 fea' fe'g w3 ¢ 30 fest <9 9 AxeT 1B w3 C & feas
oH HY J137 Ud 837 3 2 few Haeg' aH g 3T fumr) gat 3fde oW & uaT 99w BE! fea® A &

fag fes sarsar ?
a) 10 b) 12 ¢) 15 ’9/16 |

An aeroplane flies twice as fast as a train which covers 60 kilometers in 80 minutes. What

distance (in kilometers) will the acroplane cover in 20 minutes ?

fo'g geet Ao fea 3sarst &% gaet 37 €3 I H 80 ﬁw%aéofaﬁmﬁzawggglw
w - = v = - ‘ 5 o

Jeret 7T 20 fret feg faar eme(fadied fes) 3 adar ¢ ° i// .

a) 30 b) 35 c) 40 d) 50 e . <

rt. Man, P starts from A and travels towards B at the rate of

a
L0 Jn 2 t the rate of 2 km/hr. When

A and B are two stations
3 km/hr. whereas another man Q starts from B and travels towards A a

d where do they meet ? ‘ _
et ] c) After2 ;— hours, 7.5 km from station A

S el 2 Stta?izzi d) After 2 hours, 4 km from station A

m:am:l;fs—é'ﬁéﬂﬁa?ﬂfe’awrﬁ P, H%HKA@‘@W\%M@
&T% GTId gaeT J, AC fa gHr Mt Q, AeWs B
@ﬁémmmmﬁl@aﬁn@

b) After3hours,9lcrnf@r(:3:I

10 for® Hieg € TH ©

ems B <6 3 ford Hiza I e S TS

5 g qar 3 w3 Hews A <8 €

fag el ! = ) 21 iz g, wews A T 7.5 fod Hied
N WA?TWM V) “2 X N i

4) 2 WE TS, £ = o fo@ T d) 2 UrZ g, mews A 3 4 fad wied

BT Page - 9 Set-B
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37.

38.

jof 60 kmph crosses d 200 m long platform in 27 seconds. What is the
. | ' B -)CC( | Ttad
{rain running at the S| ok
i‘nglh of the train ? P . mc{r;
| b) 240 metres c) 250 metre: : s
a) 200 metres

St TU1 fea JBarsT 200 Hied BF uBEITH § 27 Afers

bomﬁ%@ﬂﬁ z%a*ﬁfé?ﬁﬁ? P
frg g et 3135991 € Hizg d) 450 ¥ted g~

\Rirl b) 240 Hied c) 250 ) A
a) 200 z -

Crosses bridge in 36 seconds. Another train 100 metres shorter crosses
I CTOSSCS ¢

A train with 90 kh What is the time taken by the second train to cross the bridge ?

the same bridge at 45 km/hr.
fﬂL 61 seconds b) 62 seconds c¢) 63 seconds d) 64 seconds

iogmg-ﬁmmﬁgmmﬁsgﬁﬁﬁmwuﬁd@%ﬁmmwaaﬁﬁlw
Swaret § U § U9 9% (<9 farar A BT f

a) 61 Rfas b 62 Afa® c) 63 Hfas d) 64 Afas
If an amount doubles in 6 years, how much will it be in 8 years ?

a) 1% times b) 1% times c) 1;1; times d) 1% times
fog Tt 6 AT fog oaTet d€ 3, 8 Wit fE'E few faat I<att ?

2 13 g&r b) 15 T ¢) 15 I= d) 15 g

A person invests money in three different schemes for 6 years, 10 years and 12 years at
10 percent, 12 percent and 15 percent simple interest respectively. At the completion of each
scheme, he gets the equal interest. The ratio of his investments 1is :

feq fenast 3 f3z Y-Sy nait &' 6 A8, 10 A »F 12 A& Bt gH=d 10 SHel,
12 Fet w3 15 SAEt @ Agee fema €2 gad faem o=t JI e RAH @ uar Je 3 8W 3
s e e 31 fomt <t ol ot 3 7 | '
a) 2:3:4 b) 4:3:2 . ERCH d) 6:3:2

What would be .
b e yeart?; compound interest accrued on an amount of ¥ 8400 @ 12.5% per annum at

mg@ﬁmgﬁaﬁm@ﬂg : 5 ~ .
s Siar 7 A 12.5% AT8TET @9 & fenma &% fasT fmaa fere

a) T 2584.16 y(
T 3560.16 c) T 3820.14 d) T 4205.62

What will be the differ
: mce betwecn s' X .
T 15000 for 2 years at the e imple interest and compound interest on a sum of

, 1

lmm@ﬂmﬁzw | lzterestof 125% per annum ?

e oty S B 122 % ArETaT w9 @ AUras e w3 fines fenrw €9
a) T 230.550

c) ¥250.129 d) T 324357

d) Wednesday

d) gu=9

G [}



https://applink.adda247.com/d/XhqWf9lSap

AddaR247

39.  On what dates of APl 2001 dig
T . y N h 0 A
MUB 2001 feg fa?lsﬁ':ﬂ-‘r Q?ﬂ‘d“: :"k-(ln( sday fall
‘{I) l“‘ th‘ IS”]. 22“[; ygh o Hga7g b= i
by 2", 9 st 23" 30 ¢) 3" 1ot 7™ 24
(l) {1I||‘ ]|1||‘ ]th~ L)qli\

40.  The angle between the minyg

) ¢ hy; : 3 .
feq wst o e 420 ar “.mn! and the hour hand of a clock when the time is 420 s
| g 5 U_‘_::n_ i . - _ e Loy S 3 B
e MY U 3 87 ©t frer T HE w3 iifent =t et ftgary

a) 0°
b [
41 How many timesg e B) bt d) 20°
_ any times do the hands of a clock coincide in 4 lay ? 5
W3 It ot fox fis? a day
Nl M IX&T =79 feqmmg Feaitu i
o LKA ¢) 22 o 24

42.  The ratio betwe
en the length and the breadth of a rectangular park is 3 : 2. If a man cycling along |

i . :

fea nirfegarg 3 33

il ﬁﬁmwmwm 3:29J1 ¥ag fed vt ugg @ o
2 }ﬂ“c‘a'ﬂk m@mwmmﬁ?@agmﬁ%@amwwﬁ
3T U €T UET (TN HieT feg) faaT 3 7 )

a) 15360 b) 153600 ) 30720 d) 307200

¥ N

el
=

L 3

43. A garden is 24 m long a\'lé 14 m wide. There is a path | m wide outside the garden along its
S}des. If ﬂi.le path is to be constructed with square marble tiles of 20 cm X 20 cm, the number of
tiles required to cover the path is :
fea ava1 24 HiZg B9 w3 14 Mg F37 T g1 @ 99 UH 999 e Hiew 3T oIt I) 7
fea 3T 20 H . x 20 FY Y. € wrE St Baniang EhdT TEIET &8 gerfenr fapwr 3=, 3
few ang & s=@= wet fastut efest @ 833 7 )
a) 200 b) 1800 &) 2000 d) 2150

995 m’

L) \

It is required to construct a big rectangular hall to accommodate 500 persons, allowing 4
space per person. The height of the hall is to be kept at 7.5 m, while the total inner surface area of -
the walls must be 1200 m”. Then the length and breadth of the hall respectively are : ~
a) 40 mand 30 m b) 45 mand 35 m ¢) 50 mand 30 m \d) 60'm and 20 m
soowammmﬁmwﬁwwﬁ,mmwwm
gt Soait) a7 G @UTE 7.5 viea(m) T T, 7E il e St At AT €
g IE & T BETEt v3 IFE

Vi

22.5m " i
digr BTt 7 I 1200 Hied(m?) I Irdter J1 fem
" = ? =
fet =gt | c) S0MY. 73 30M.  d) 60T »3 2041

a) 40 Ht. M3 30 HT. b) 45 Wt. 3 35HT.

' ' . A drainlet 10 m wide 18
i tangle has dimensions 240 m X 180 m : i IS
A plot of land dm.tﬂ(leuﬁ?;;) i;getche egarth dug out is evenly spread over the plot, increasing 1is
dug all around it (0 e
o th of the drainle
i B R e ¢) 1.227m d) 1.229m

225 ] s L
S o Vg 31 10 Hieg S fea aTEY fem € Ta w w @ A

45.

a) 1.223 m

80 i
WW’H“:’?M::;WI o 'y wifan fap 3, frm & few e 3 25 A €97
51 y'et aret fifdl g uBe et 3 7
aafe%faly“ﬁaeﬁsf&’fb;ﬁlaz”:: 4 ¢) 1.227 Mt d) 1229 .

-B
/’7399.7 &
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TOT & ark that parl as an answer,
{ of a sentence has an crred and mark pé :
] arl of a4 sentent ‘ -
;,. vhich partt i o o
e | (1 as for Mohan hoped fervently that she “'“L'hl et a |
aewallas _
For her sake as We o o i

(a)
§ YT e i ‘\'C“[{:n(:(:
i i L preposition gven under the
- with suitable preposttic
blank with s _
y exception

b) for

e the rules of moral conduct,

" > I I KB ] o "I

*¢ think that there 18 @ & | |

Pon tt c) m p-dnatist
a) to

om given in bold in the sentence.

>ani “the idi
2 ‘hoase the correct meaning of ; .
e r that 1 would not make head or tail of it.

as such a strange affai | |
o b) tolerate it ¢) remember it d) understand it

\. 4) face it ’ |
Sclect the most suitable alternative in accordance with the correct grammatical rules.
40, Sclec . ‘ . :
ers were enjoying winter evening around the fire.
g winter evening around a fire.

ter evening around fire.

_ a) The villag joy!
b) The villagers were enjoymng W’
¢) The villagers were enjoying win .
d) The villagers were enjoying winter evening round fire.
0. Choose the expression from given alternatives which is an improvement upon the bold part of the
sentence.
We were still standing in the queue when the film was beginning.

a) film begins b) film had begun c) film began d) No improvement
: e

51. Choose the alternative which can be substituted for the given sentence.
Feeling inside you which tells you what is right and what is wrong.

a) Cleverness Byc(onscience c) Consciousness d) Fear

52. Choose the word nearest in meaning to bold part given in the sentence.
There is a tacit agreement between the super powers not to engage themselves in armed conflict.

a) unspoken b) speechless yﬂgnt d) introvert
53.  Choose the word opposite in meaning to the word given below.
Chivalrous
a) gallant b) dastardly _S) amorous d) defiant
34. Find the misspelt word from given words :
a) amateur b) antagonism c) anticipeted d) bureaucracy
>3- Reamange the parts P, Q, R and $ to form meaningful sentence.
People :
(P) at his d.ispensary
(Q) went to him

(R) of al) professions

(S) for medicine ang
a) QPRS treatment

TS fo5it 973 et fute b) RPQS ¢) RQSP 4y QRPS
E :if:::a AR T —— g< | '

) 9 c) gnat d4) fags
57. Wfs&w Iia \)/ :

B TR gy g b) ' (I d) Far

d) §¥d

Set-B
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60.

62.

63.

64.

65.

66.

67.

68.

69.

70.

35 fisit WO & T E T I Wt S g |
WWW?

a)gwﬁfﬂ’f“_frm breforierag o) smug
VM..W b) afgg ¢) TBH S

d) 8TEr-Hret

; ) 65 W3 et ' o
&aud ATTTH HE Y S8 Qg 3 ) 2 |
D) Sust 3 | d) TOAT w3 wufeeg T 93 95|

@B AIS T I J .

sy T ferrgr
y I e c) I8 JII&T d) YI=™T &7 FI&T

Js feftt 199" faoem wawerst ymare ot 3

a) H b) 3 o) F%t T

Wy fafer™ € & &ua wim § ot affe gx -

a) AEAE frfam b) mafes fafamr ¢) oS farfan d) maevd fafanr

75 fau mee Ayt &9 fagsr mee-g37 W& 5t 5 2
a) gIHt, Tufaq, Sfgm@er ¢) 989, Sufae, sCfamer
b) d9mHt, gufgs, Jfamer d) Jamt, Sufaq, Sfe@er

All the logical and mathematical calculations done by the computer happen in/on the :

a) System Board b) Central Control Unit c¢) Central Processing Unit d) Mother board
far & afu@eg € #wa/€3 IJ= T8 g9 377 It ITa-FEIE I Afeg »adt FrEaT=t
JemT I8 ¢

a) fAMeH §99 '3 b) d'Edl ded® Flse '3 VclﬁY/?rHﬁ'ﬁ'fﬁar‘gﬁ)?’B RICCACERES
Which of the following is NOT one of the four major data processing functions of a computer ?

¢) Analysing the data or information

a) Gathering Data
) z d) Storing the data or information

b) Processing data into information
a) 37T fed &7 ATaT C)WWH’WQFEHW?W
b) STer § ArEawd fe9 THE d) 3¢ »3 ArEaa § fedsT IaET

‘Delete’ key is used to delete characters to the elithecursar

c) both (a) and (b) d) centre

b) right
a)ﬁ";ﬂ o gt § o€ Be1 361 3 |
‘ ’ = @‘ mydr Q ¥ 5 .
" i b) AH c) R (M3 (b)  d) feSa

a) yyg _

; area, often called a(n) :
An E-mail account mcludc}:)a hs;;?:i‘;k ) mailbox Il siiren
a) attachment %Waﬁgg’ra,mﬁ@ma@a. ‘
fear €-H& " ge b) gretuaféd \9)..4?|m'om d) TNt WEIH
a) MeRHE . certaLine break ?
Which key combination is “séd s m# =gfanr Jer 37
. Bl | ¢y Ctrl + Enter d) Fn + Enter

a) Shift + Enter Ziaet

Set-B
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71.  Movement of signals between CPU and Input/Output is controlled by :

a) AL b) Control Unit ¢) Memory unit d) Secondary storage
ﬁ_zﬁ.g.mé'ﬁem_ /rGeye edfirs fAaTsst @ nraret & geds a e 3 |
a) EHS G T b) &ea® Gfse enmar ¢) vdt ufsz @ §) e .

77, What type of computer could be found in a digital watch ?
a) Mainframe computer  b) Super Computer ¢) Fmbedded Computer ) Notchook computer
mmﬁfﬁahﬂmwéﬁrﬁjﬁmwwi} ’
a)ﬁ?;eawa“rﬁr@?'d’ b) A3 afued o) forifss afugea  d) seva afuged

7 Thic » of memory is in pendrive ?
73, Which type of memory I

a) Flash memory ~b) Cache Memory ¢) EEPROM d) RAM
s sarfee feg fan fams & Widt d<t J 7
a) TBH AHT b) a9 W+t c) BTt Wt g G e, d) I
74.  The process of transferring information from the computer into the server on internet is called :
a) inputting b) uploading ¢) downloading d}-sforing
feeaiz €3 afuSes 3 mawe 9 Aeadl IuEts 95 & yfafenr & faar AieT d 7
a) femufear b) MuBfsar W d) mefaar
75 Dr. Solomon and McAfee are popular :
a) virus b) operating system  ¢) Dr’s name d) anti-virus
TTaed AEHS M3 Hamiet ufia T5 |
a) Tfean b) Guafear famen Q,a'éaw A d) Wet-=fean
76. Multimedia stimulates all of the following EXCEPT :
a) memory b) sight c)-sound - d) images
HEEN ISP I3 ffir feS fea § &3 d g7at A9 § RIS (stimulates) J€T J
a) at b) ATEte c) g dy fenm
77. A word in a web page that, when clicked, opens another document is called :
a2) anchor b) hyperlink c) reference dyHBRL
fea <aim fe's fea mae, fan § afsa a9s 3 feq T I v EerJ, 893
a) Maq b) TENEfET c) JeIH d) § M3 s
78 In MS Word, superscript, subscript, strikethrough are known as :
a‘) F(:m Face ) b) Font Style ) Font Format d) Font Effects
" . 233 fe'9 puanafoue, rarafaue, rearetaag & faor e & ;
8 ecEn b) ¥2 Ferels ¢) &C Te d) 3 fedaen
79.  Which functi : . .
feadl (;;;.:._:c used to enter current time in a worksheet cell ?
- =mw05 “ab""mé‘m_ 9% Be faua &ans €t <93 J2qi
. A ) currentTime() ¢) =time() e:d)- e
' ﬁ"‘se‘t;? 18 used to specify a cell range ?
a) : (colon) | “g?ﬁ ) " fé7y =afanr mrer § 7
i ' c) * i I
81.  Which growth stage of sug AL SR b L} sk 4) - (hyphen)
2) Germinag "l sugarcane s critical for irrigation ?
s ionphase | bY GRadpogilai (10 pe
I & FU TR W B e fem Pphase ' o) Formative stage d) Ripening stage
a)&ar ygmy Wmmmwa?
Paper - |-8 . ) ' I ST
Set-B
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Which one of the following crop rotation is the hest for maintaining soil fertility ?

e - toria - wheat
a) Maize - toria - whe : ¢) Paddy - potato  green gram
b) Paddy - wheat - cowpcea ;) Soyhecan - wheat  green gram

it 1 QuETE FIS § ST T B I fsfrt fe's foraar anE Tag mg 3 o 3 7
a) HEA-FIH-TET b) $ET-AEA-IHNY ) §&T-ME-09 B8 d) Fowdies-a=a-T9 25
‘pink boll” worm 1s a serious pest of :

a) Mustard \ _h} Cotton ¢) Gram d) Ladies finger
grevat Wt 13T fan set wagsg atmr §

a) A b) Iurg c¢) BB dy fastmt

First Agricultural University of India is :

a) Jawahar Lal Nehru Krishi Viswavidyalaya, Jabalpur
b) Punjab Agricultural University, Ludhiana

" ¢) Gobind Ballabh Pant Agricultural University, Pantnagar

d) Rajasthan Agricultural University, Bikaner

3793 €1 ufast vIta=t gatedfnet faast J 2

a) AT9 I8 g fat fem= fefenrfenr, nusys

b) UA™e 43St wateafnet, sfawrar

o) difee §53 I3 ISt gateatiet, (=aam

d) TARES IS wat=afiet, flaae

Maize - Toria - Wheat - Moong rotation is termed as a system of :

a) Multiple cropping b) Mixed cropping ¢) Relay cropping
ol -Semi-aee-iaT & T & fagst feenar fagr wrer 3 7

a) §g-3 31 A8 by HHII THB ) 918 (Relay) SW&  d) W3 A& (Intercropping)
Acid rain is caused by the emission of which gas into the atmosphere :

a) Nitrogen b) Argon ¢) Carbon dioxide d) Sulphur dioxide
Wfig Ton THizE Ko faoft dn e fean e ada det 3«

d) Intercropping

_a) EEHAS b) WIIE ) TIES FEWEAES  d) AEST SEIHES

Soil in Punjab is divided into how many types ?

a) Four [l}yThree c) Two d) Five
g fe'a fiet faatnt fami feg 25t 381 3 7
a) 99 b) f3& c) & d) I=
Desert soil is found in which of the following area/regions ? .

s ion of Punjab ¢) Gurdaspur and Hoshiarpur districts
9 St / d) Eastern part of Sangrur

b- tainous region
) Sub-moun X . =

a) Uy T SwS-Ueit femrar ¢) IIEHYT M ginraud fag
d) FaTge & yast fomr

b) Gu-uar=t fesar
NOT a part of the “Green Revolution” strategy ?

ich ¢ “the following is
Wth?l O.t.‘é (..)f thc : -0 Fertilisers  ©) High yielding varieties of seeds d) Crop insurance
D e gy “a feaa™” 31 @ i At 3 7
2 et s L it O 8 Qe b d) ST

\"""--&_

W gl
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91.

N =]
e

94.

9s.

97.

98.

: i f seasons in Punjab ?
Which of the following are NOT grown In the Kharif seasons 1]

a) Bajra and Rice b) Maize and Groundnut

wwmmmm@ﬁ?mmﬁ@mﬁﬁﬁ?

¢) Barley and Mustard ~d) Cotton and Pulses

=R 4y aurg M3 €87
a) §THET 3 U8 h“ﬂﬂh@)ﬁaﬁ ¢) 7 "3 A 9
The cornerstone of the foundation of Shri Harmandir Sahib was laid by :
- Sayeed Al
a) Bulleh Shah b) Mian Mir ¢) Warris Shah d) Sayee
7 gfaveg mrfow o &g for evrar 3t aret At ? )
a}aﬁ'w b)}ﬁ’ﬂ")ﬂﬁ L)WW d) AFY AHB]
What is known as the triangular region in between the rivers Sutlej and Beas ?
a) Majha b) Malwa ¢) Doaba d) Pothohar
mwwmémmmxmﬁmwa ?
a) ¥'y™ /bﬂr HB=T c) gmrET d) udad
What is ‘Sagi Phul’ in Punjabi culture ?
a) Flower b) Folk song ¢) An ornament d) A musical instrument
st Rfewgg feg ‘Rt g8 e dt H3®g J ?
a) €8 b) B I3 ¢) fea afaeT w HI3 A
Who is the pioneer of Punjabi Suba ?
a) Master Tara Singh  b) Master Zora Singh c¢) Master Akesh d) Master Mohan
UHTE! 7Y € HEl & A ?
a) HHET 33T fAw b) H'HEF #aT fAwr  ¢) WHed maw d) HTHST HI&
To which of the following organisations Bhagat Singh was associated :
a) Indian National Congress ¢) Hindustan Socialist Republic Association
EJ) ‘Nau:]awau Bharat Sabha d) both (b) and (c)
I {3y fersst fes 3913 fiw faw 575 A& A/t ?
) FH THE - _e) fienams fmfewe fousfes Amiens
b) 3HES 3793 HIT d) T2 (b) W3 (c)

Which of the following is NOT the folk game of Punjab ?

a) Jand-Khrand b) Thaal ¢) Paunchi d) Bil Bachj i
s eane hi
womfe#ﬁaﬁme?iaﬂ??ﬁﬂ‘&? N
P
a) 78 -¥atg /b)/m; ¢) st d) fo's gfon @t W
Which place is known as Mecca of Indian Hockey ?
a) Sansarpur b) Nawanshahar :
::ff?’ T E TR Tt o iwr fagr prar 3 7 O el
b) &=t afog ¢) ABIBYT

d) FAsyg

d) J.F. Rehill

d) ¥He. Jtow

—
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99.  The title of Khushwant Singh’s autobiography i -
a) Not a Nice Man (o know i - I(_} Death at My B3
b) W n and Men i T rath at My Doorste
. onﬁun " : °n in My Life d) Truth, Love and a | iIrl}Ic Malic
¥RT fw & AR - =al o firggy 3 . alice
a) 3T T STEH NS T ’
e e ¢) 3" e wrft Fawdar
b) @HE WF ?
) E W o et wefe d) 299, 5= W7 ¥ fBen wafen
100. *Masand” system to collect money for religious purpose was started by
a) Guru Ram Das ji b) Guru Nana 'y s |
_ . - anak Dev ji  ¢) Guru Angad Dev ji d) Guru Amardas ji
U)‘mmwjaanfeaﬁmﬁ‘nﬁ?’wfan%gaaﬁr? i
g IH TH 5 g
), 2 b IgsETET M ) 37 e o= A d) T migery
101. Who ls the Fi‘rst Law Officer of the Government of India ?
s; E:\l:fsilisrgtc; of India c) Solicitor — General of India
Y d) Attorney — General of India
793 T UIIBT ¢ wifaadt fam & afe a5 7
a) S Anfen »re fegyr c) AfeneT- Axas me fEghur
b) &5 A 3T d) "eaat -A59E mre feghyr
102. Which of the following is NOT a major green house gas ?
3) ozone o b) water vapour c) methane  d) carbon dioxide
35 fafmi €9 fagst vy afts 8w dm aat 3 7
a) €% b) =reg 2yg c) s d) S99 FfeanTets
103. Live births per 1000 population per year is called :
a) Live birth rate b) Birthrate c¢) Crude birth rate d) New population rate
Yt Ares €976 AsHIaHT € Y3t ard Aies ueTfen & afde 75
a) HITI UTTfEH®T  b) ABHET ) "W (IF9) AGW T d) &=- ASHwHT o8
104. 'ASHA' abbreviation denotes :
a) Association of Scientific Health Activists ¢) Accredited Social Health Activists
b) Association of Social Health Activists d) Accredited Social Health Association
'ASHA' fam &7 fafug gu J ?
a) MAATERE M Arfeefed I8 Madifene  ¢) Madisiic 3 AR J88 Waci<Rene
b) MANIEHS MTe ARG J&Y Haciiene d) Hadtsifes ins Jog AAREES
105. Which one of the following does not qualify for curtailing the freedom of speech and expression
under Indian Constitution ?
a) Security of the state ¢) Demand for autonomy
b) Public order, decency, morality ~ d) Contempt of Court |
a) 7 & gafun Z) y g—“"a';' f’:;‘w
b) &a YT, AEEaT, BT ST
106. When is the International Yoga Day celebrated ? ol 72 d) May 31
g A a
a) June2!  b) March2l > % AP d
#IgaHedt G fe=n a€ HETTeHT 7'e
R R e 9 2 mds &) 30@
\9/5137; ) 21K
mlel : N ; P_age"13 Set-B
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107.

108.

109.

110.

LEL

112

113.

114.

118,

of the British rule in India ?

) 3 Mysorc war, 1790-92

Which battle established the supremacy

aiBatle ol Lo Iy d) 4" Mysore war 1794

b) Battle of Buxar, 1764 P % 4 3 7
‘) fafntt fe: farosht saet 9793 9 wardeTt & JgH3 & T fee]

i o) it wEa € w3, 1790-92

a) USTHY €1 F3TEL, 1757

b) gaHa & SFEL. 1764 4y et wgd & B3 1799

and Development Authority (IRDA)1sa: o
¢) Non Governmental Organization

d) Advisory Body

The Insurance Regulatory

a) Statutory Body
b) Constitutional Body

W’é@@?ﬁm@*fzﬂwﬁ(mnmﬁ: ﬂ
a) a'r?_s‘aﬁ HRET b) Afewfss e ¢y drg-Adadt ARET  d) ABTIAd HAE"
Which institution releases the ‘India Innovation Index’ ?

a) NITI Aayog b) CSIR c) RBI d) ISRO

fxg=t fwer fefen fesans fESan § Al aget J7

a) &1 mrear b) FARME 2g. ) W H e d) Mt A M3 8.
Malerkotla is the district of Punjab.

HaSaeE A" T g |

a) 21° b) 2 ey 231 d) 24"

What is the Rank of India in the ‘Doing Business Report 2020°, after the update of the World
Bank ?

fere & @t »ue QUi ‘gitar favan fatee 2020’ € #Z9e8 9793 faag a5 3 3 7

e b) 72 c) 63 _dy56

Which new definition was included in the Motor Vehicles Amendment Act, 2019 ?

a) Medical Vehicles b) Aggregators c) Cargo vehicles d) Electric Vehicles
5 fafunr {7 faaat ufgsmr Hea =95 Fu Aere 2019 3fo9 v it aet § 2

a) H31a® TT5 b) Mardtdiean /c,)/a"a'ci"r TUS d) faast =us

In India, ‘Collegium System’ was first introduced in relation to :

a) Executive b) Legislature ¢) Judici 10n- 1
o skl hir e %- Wa;y-' E m{i)ﬁ?:;o:n State Relations
a) aaAAEt b) feuwfsar ¢) MEsIt ~d) FET-IH TEY

Which university in India has been recognized by UNESCO as World Cultural Hentage ?

2.;-:‘;-.2?," b) Panjab University c¢) Nalanda University d) University of Lucknow
a) 7 fm? e § ghwa =% Tows auees W o s fodt anet 3 0
msg., b, oIt o) sder gaRIRA  d) wateafiet nie muag

Which of i i '
the following pairs (Btate-date of formation) is correctly matched ?

b) Mizoram - 25 June, 1986 66 ¢) Telangana - 15 August, 2014

d) Chhattisgarh - 20 November, 2000

7o ffiont fe _
a) Mwmﬁwmmm'ﬂﬁ?wmﬁs& ?
ST 1 5% 1966 poe
b) Briten-25 7, 1086 | " 13 MIWS, 2014

i [ d) mr—zo Bé'aa-, 2000
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118.

119

120.

At which of the following places was the Flag Satyagraha successfully led by Sardar
Vallabhbhai Patel ?

kp Poona - b) Nagpur ¢) Bardoh d) Bombay

I fefmrt f&F faw was 3 waeg @Bga™t vew =5 Y3 wfawarfs wes3r afig
e famr ¢

a) UysT b) &TaTud ¢) HIOHL d) #9

Which of the following is a Military Alliance ?

a) A.S.E.A.N. b) NAFTA. c) NATO (o) 80 295 T

ﬁ & ﬁ x.h.ﬁ éﬂ} - = fj— ‘?

a) EMAE EAS. by isgATAE. ) HsTAE, d) =t @t At
Which ailrpqrt has become the world’s first airport to completely operate on solar power ?
a) Kochi A“‘POIT . ‘ ¢) Indira Gandhi International Airport
b) Che‘nnal International Airport d) Kempegowda International Airport
ydt 397 Fot G9AT Idt BT TET fene v ufosT oo wiET faaET 9

a) a9t gTEt MaT ¢) feegr ardl W33aHed! g=TEt mET
b) I W3IIHIST TITEL MIT d) AT #3gaHedt J=Tet M3

The Versatile Bollywood actor Irfan Khan, who passed away in 2020, had won National award
for which movie ?

a) Paan Singh Tomar b) Lunch Box Sl ife of P1 d) Haidar

TEle v yf3g=s migasr feaes us, A fa 2020 fe5 g5< a9 J® 75, & fam femn
Bet SHES meag fafam At ¢

a) Us fiur 39 b) 9 AN L@/g@aww’t d) Jea

Where the Winter Olympic Games 2022 will be organized ?

a) Pyeong Chang, South Korea b) Vancouver, Canada c) Sochi, Russia d) Beijing, China
AT wEfug g3t 2022 fa 8 Mt SS AT I I8 7

a) fuGar Far, A8y JItT b) ST, A& y‘“é?amw d) stfigar, 9t

Space for Rough Work
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